
https://www.tjqzz.com/
 

《七年级上册英语阅读理解专项训练29（含答案解析）》

Watts was born in a small town of America on 19th August,1956.He was in England from
1993 to 2001.In September, 2001, he went to China and taught English in a college(大学)
for 5 years. He had a very nice student in college.The student was Yang Lin. Now they
are still good friends.

Yang Lin was born in Shanghai in 1980. He graduated(毕业) from his college in
2005.And now he teaches in a middle school in Beijing. He is very friendly to his
students. He lives in a big house with a living room, a kitchen, a bedroom and a
bathroom.

1.Watts was born in___.

A.England B.China C.America D.South Africa

2.Watts was in England for about___years.

A.6 B.8 C.10 D.12

3.What did Watts do in China?

A. A doctor. B. A teacher. C. A manager. D. A farmer.

4.Yang Lin is very ________.

A. welcome B. funny C. friendly D. difficult

5.What can we infer(推断) from the text?

A. Yang Lin lives in Beijing now.

B. Yang Lin moved to Beijing in 2005.

C. Watts has a big house in Beijing.

D. Watts was Yang Lin's favourite teacher.

答案解析：

1. C.America - 文章第一句提到Watts出生在美国的一个小镇上(Watts was born in a
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small town of America)。

2. B.8 - 文章提到Watts从1993年到2001年在英格兰(He was in England from 1993 to
2001)，这段时间是8年。

3. B. A teacher. - 文章中提到Watts在2001年去中国，在一所大学教英语(he went to
China and taught English in a college for 5 years)，所以Watts在中国是一名教师。

4. C. friendly - 文章最后一段提到杨林对他的学生非常友好(He is very friendly to his
students)，所以选friendly。

5. A. Yang Lin lives in Beijing now. -
文章最后一句提到杨林现在住在北京，在一所中学教书(And now he teaches in a
middle school in Beijing)，所以可以推断出杨林现在住在北京。选项B没有直接提及，
选项C和D在文章中没有提及，因此不能作为正确答案。
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